EARAROBREBRT —5 XN—ZXBISH—F

AR rESm

[AEs] 1 7 :800,000 § 2 3&: 280,000

20224E108188H (X) 8EIAEAI2H

C 3%

[ E [ memm - | 9 s e

/ 33#&:160,000 @ 4 3%&:120,000 @ . 5 & :80,000 M

B RS RS R HE B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o , Em=s) -39, _g-a_ . — SHIEE (@)
1 3| EAIVITSYN ®78% 1(3_9)7 8885 192 ! (4325) EHES
RIU—FHISUY §:I39/RRFT EBIl —58
= I~ # 5 | LUCHENR 1:39.8 4-4-2-2 | 40.9| — 7 458 | MIEA (fat&)
21gl9 |SVIVvYIYT 4 54.0 /2) @) | SEERE
RS/ VIv T4 B:7INO—R VAI94S5T7—1
<, =~ ERES : -2-1- - RAE (HofE
3/7|8|7TRYTHITY o4 20 (11410/21) S R 6 f;; Eﬂ%i( )
R:TF—RAN— B:F21—059427 FH XF
Iy — v 7 | BEE 1:40.2 7-6-4-3 | 40.9| - 1 519 | EEBRA GAT)
41810l ANAII—ZF R 56.0 C5) 45 | SPET
R:VYRUIURIR B:ZAh—Lw hRE— #HEI77—LA
< e FHEA :40. -5-5- . - gt (1)
517]7|UagzavRL o6 o 1{13(38 6-5-5-6 | 41.1 3 :1:31) Lt
RiIvRIVIA BFRAEUVR/— #HE77—LA
=g 4 6 | PIEIFIEE 1:41.1 5-7-7-8 | 40.9| — 8 483 | SHIEXE (&)
EH A=A 56.0 @ 1/2 o) |EEES
RiIVHh—0 B:ZY /) T4F—U H—RSN—TRFYR
o S~ & #EREB 41, -9-9- . - IMEDE (GAFD)
71111 | 7RIV % B4 LA 1?21)5 9-9-9-9 | 40.5 9 fzo) N
R:PIPITATFVAR B:h—tvELZF« YAFTHT7—L
- T . 3-6- _ =FHES (8
glsls|UuvoRIUZSL % 9 | BER Gagy | ST @0 | o |ShmEs
R:T=ILRZYUa—=L B:FF4IV AEHUS
—J\ o6 | Ea— 1:41.7 1-1-3-4 [ 43.0] - 2 499 | NEMEZ CAERD)
9 4| TRAO-=NIN\bH A53.0 (/4) 3 | B JPNEH
RiFAFIv MU B:OAYAT VT SHERS
S » s 4 | FERHEE 1:43.3 10-10-10-10{ 40.1 | — | 10 | 394 |LLEHER (IliE)
108) 2| YTFEIF 54.0 ®) (5 |EDES
RibSvEYR B:74—LYST TS
@ 11— —BERIEI
13—7F— 4,8,5,9,6,7,10,3,1,2
20— — 4,8,5,9,7,10,6,3,1,2
IT=5r= 8,9,4,10,7,5,6,3,1,2
43— — 8,9,10,4,3,7,5,6,1,2
0 ILRE
BB 3 1,600 JA R 3-9 1,740 & 3-8 1,010 3ER 3-8-9 22,290
B B 3 240 3-8 1,930 B 3-8 2,600 3Es 3-9-8 142,120
9 430 8-9 2,350 5 & 3-9 7,410
8 440 Ba 3-9 16,770

ABIC OV TRUTEREERRODDZE. THRIIZEL.




